
3 vertical panels, all have same
geometry i.e. from X = 0 to 4, and
y = 2 constant. Z varies per panel
obviously.

then change the Y
value by 2mm on
one side of the
bottom panel only



Set model geometry
to account for this
expected error



After model calculation, bottom vertical
panel now has the following co ordinates
(maybe as expected??)



Problem is middle vertical panel now has moved
as well. (again, maybe as expected??). The
problem is, if you have spent a significant
amount of time getting this middle panel
EXACTLY where you wanted it (meshing EXACTLY
how you want it too), this is going to make a
problem.
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This is an example using the same 
model but making the initial 
discrepancy 6mm.  Then use 10mm 
user defined tolerance to achieve 
model based upon “tolerance of 
structure model generation”.   
I now have a huge problem with my 
meshing.  (Think on project with 
100's of panels, it can take 30-40 
minutes just to generate this mesh, 
which is not useable anyway).   



Then I can change tolerance to say
40mm. Now check middle panel. So
from an initially small discrepancy, in
the BOTTOM panel, the middle panel
(which originally had no geometric
discrepancy) is now out 18mm.


